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QUESTION 1

SAN architecture is created at ______. 

A. the mid level of storage abstraction 

B. the smallest LUN possible in the SAN 

C. the lowest level of storage abstraction 

D. the highest level of storage abstraction 

Correct Answer: D 

 

QUESTION 2

What are three possible outcomes of a storage assessment? (Choose three.) 

A. storage utilization 

B. ROI on existing storage 

C. SAN design 

D. inventory of systems 

E. standards for the SAN 

F. ownership and usage statistics 

Correct Answer: ADF 

 

QUESTION 3

What are two benefits of migrating from one SAN topology to another SAN topology? (Choose two.) 

A. The management of the SAN is simplified. 

B. The SAN can scale to support additional storage devices and applications servers. 

C. Zone conflicts and limitations are resolved. 

D. Many smaller switches are consolidated into fewer large fabric switches. 

Correct Answer: BD 

 

QUESTION 4

You are replicating data over long distances using 1 Gbps B-series (Brocade) fabric switches. Extended fabrics
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(increased buffer-to-buffer credits) should be used when the minimum distance exceeds _____ km. 

A. 10 

B. 35 

C. 20 

D. 15 

Correct Answer: A 

 

QUESTION 5

What information should a SAN architecture contain? (Choose three.) 

A. product independent information 

B. high-level process description 

C. detailed SAN topology maps 

D. detailed process description 

E. product specific information for every component in the SAN 

F. SAN implementation guidelines 

Correct Answer: ABF 
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